H=
=

=L
=

£ 9 Hi

B 20234 78 18
F 2024% 6 A30H

HASHEMRE

BEERESVEFHARAREE1813-1-1-203




B o Bx

(B4I:F1)

XS ERKRE 20244 6 4308 JE
' E 0 8 E o0
¥ B & % ¥ B & %8
[RE&EE] [RE&E]
[(BR&-FEE] [thiRENBE]
I % 193,373 ERRKEED € 11,150
T B T O =® 6,452,072 #*# & D £ A17,486
#H & B & 663,666 | n % 4,120
i F = HEE 1,713,729 x W E N E 457,000
*RE-FEE § 9,022,840 XL EEHRF 78,500
[5E L {EE] x W EEHRSE 1,024,600
5t #h & 2,200,000 x thixEaE =t 1,557,884
*x 55 L{EHE 3 2,200,000 xRBAE &5 1,557,884
x RBEE /&t 11,222,840 | [EE A 15]
(BE&E] xBEEBE A% 0
[T EE EE] BEDOH EE 1,557,884
M ( BAE) 9,884,390 & E DL
AMIEZH( RE) 3,330,400 | [EEXE K]
FMEE2 ( HER) 3,379,350 | [BEAZE]
x BBETEE & 16,594,140 & VN & 100,000
xEEEE /&t 16,594,140 x EXRE BEt 100,000
[{EEEE] [(EARFEIRE]
xIREEE B 0| [EXfElEE]
E KX £ & £ 606,346
x* BEAREHFEE 606,346
x EXRE|RE B 606,346
[(FIBEEIRE]
[ZOithFI I RE]
RHEAERERS 25,552,750
x ZOMFIEE|IRE F 25,552,750
x FIEEIRE BFF 25,552,750
*xKKEEKR A&t 26,259,096
MEEDSEE 26,259,096
BEEOEEE 27,816,980 BE-MEEDHEE 27,816,980




H % B B OE »
X RHERBE (B 20235 7A 18 52024$(?J$§OE§
[EEE]
5t i = 11,396,000
tte Bt 11,396,000
[ ER{l)
s LR &% 0
5o L #aF I 11,396,000
[BREEHE]
REE-—REEE 55 6,360,682
= s 5,035,318
[EFE 5 11E]
% B OF B 13
% BB & £ 772,000
EEMNRE F 772,013
[ExNEH]
EENER &t 0
RERE 5,807,331
[ 4% 51 F1 4% ]
S| I T~ - 0
[ R1E %]
Y oAl B & &t 0
TR 5,807,331
EANF-ERBRRUEBER 1,265,100
= BRI 3% 4,542 231



= R JYL AT =
A7 e Jo O —fix ' B B PR i
BB RS (8 2023 7 1H F 20244 6 H308)
o # F = 4,020,000
% B R ] 600,000
%= T 8B 7 = 466,528
= N FE £ 7B 122,279
A g5 N 3 1,142,830
*x O F #H OH 9,045
REE —REEE &t 6,360,682




MEEAFLAEFHE

. (B4 )
KA SHERRE (B 20234 7H 1B = 20244 6 830H)
BEARXE® BEXREIRE FRERE MEESE
LIRS 100,000 606,346 21,010,519 21,716,865
LEALENEE
BEREDEY 0 0 0 0
LHAME R 25 0 0 4,542,231 4,542,231
LEALENIEE A5t 0 0 4542231 4542231
LEXRES 100,000 606,346 25,552,750 26,259,096
LEEDEDEHRERLET,
£ A H
REEEE
g it
g it

BEEMRER. WITNLEENORETHELERNTET,

£ A H



